
 

 

 

 

 

 

 

 

1. KwlI QWvw Bro:- 
(a) gulkMd ______ dy PùlW qoN bxdI hY[     2 x 5 = 10 
(A) SRI mukqsr swihb ivKy ______ dw mylw l~gdw hY[ 
(e) ieMcItyp au`qy ______ ieMc Cpy huMdy hn[ 
(s) KyfW swnUM _______ bxwauNdIAW hn[ 
(h) hr C`qy ivc̀ ie`k _______ m`KI huMdI hY[ 

2. shI imlwn kro:-         2 x 5 = 10 
  a     A        
drjI     Prmw 
mocI     h`Qw 
GuimAwr    kYNcI 
sweIkl murMmq krn vwlw  c`k 
drIAW Kys buxn vwlw  pMp 
 

3. TIk vwk Ag̀y shI Aqy glq vwk Ag̀y glq dw inSwn lgwE[  2 x 5 = 10 
(a) jVHW DrqI iv`coN pwxI cUsdIAW hn[                                    (  ) 
(A) sWJy pirvwr iv`c mYNbrW dI igxqI G`t huMdI hY[                         (  ) 
(e) bWdr dw suBwA nklcI huMdw hY[                                        (  ) 
(s) kpUrQlw Sihr dw bsMq pMcmI dw mylw mShUr hY[                       (  ) 
(h) ib`lI dy b`cy nUM kqUrw kihMdy hn[                                        (  ) 

4. mweINf mYipMg:-         2 x 5 = 10 
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;e{b dk BKHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH 

fwshHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHo'b BzHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH     
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5. hr ie`k dIAW do-do audwhrnW idE:-      2 x 5 = 10 
(a) Awpxy mnpsMd Kyf isqwry[ ________ , _________ 
(A) Gr iv`c vrqy jWdy mswly[ ________ , _________ 
(e) jwnvrW dy b`cy[   ________ , _________ 
(s) Awpxy dosqW/shylIAW dy nW    ________ , _________ 
(h) JuMfW iv`c rihx vwly jwnvr ________ , _________ 

6. Awpxy mnpsMd Pu`l dw ic`qr bxw ky rMg Bro:-    2 x 5 = 10 
 

 

 

 

 

7. hyT ilKy pRSnW dy au`qr idE:-       6 x 5 = 30

  
pRSn:1  quhwfy pirvwr iv`c kOx- kox rihMdw hY ? 
T[ZsoL HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH 

HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH 
pRSn:2  GrW dIAW C`qW au`pr pqMg aufwauxw ikauN Kqrnwk hY ? 
T[ZsoL HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH 

HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH 
pRSn:3  srdI Aqy grmI r`uq dIAW sbzIAW dy nW ilKo ? 
T[ZsoL HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH 

HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH 
pRSn:4  swnUM ru`KW nUM ikaNu nhI k`txw cwhIdw ? 
T[ZsoL HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH 

HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH 
pRSn:5  koeI pMj KuSbUdwr cIjW dy nwm ilKo ? 
T[ZsoL HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH 

HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH 
pRSn:6  Aijhy pOoidAW dy nwm d`so ijnHW dIAW jVHW Kwx Xog huMdIAW hn ? 
T[ZsoL HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH 

HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH 
  


